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General Intelligence and Reasoning

Select the option that is related to the third number in
the same way as the second number is related to the
first number.

18: 306::15:?
(A) 210 (B) 312
(C) 205 (D) 185

Select the option in which the numbers do not share
the same relationship in the set as that shared by the
numbers in the given set. (Note: Operations should be
performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g.,
Operation on 13 such as adding/subtracting/
Multiplying etc. to 13 can be performed. Breaking down
13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is not allowed)

(123, 89, 106)

(76, 66, 71)
(A) (34, 58, 46) (B) (22, 48, 35)
(C) (69, 75, 71) (D) (100, 116, 108)

If '@' denotes 'addition’, '# denotes 'subtraction’, '$'
denotes 'multiplication’ and '%' denotes 'division’, then,
what will be the value of the following expression?
17336 @[(234 #48 @ 354) % (97 #13$ 7)) $5

(A) 1845 (B) 1062

(C) 162 (D) 86

Four letter-clusters have been given out of which
three are alike in some manner and one is different.
Select the one that is different.

(A) DZX (B) YUQ

(C) NJH (D) TPN

Which two numbers (not digits) should be interchanged
to make the given equation correct?
8x6+12+2-4=14

(A) 8 and 6 (B)2and 4

(C)2and 6 (D) 12 and 14

Select the combination of letters when placed

sequentially in the blanks of the given series will

complete the series.
_OPSDRO_SDR_PSDRO
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Conclusions: I. No Diamond is Gold.
Il. Some Gold is Diamond.

lll. No Cube is Original.

(A) Only Conclusion | follows

(B) Either conclusion | or Il follows
(C) Only Conclusion Il follows

(D) Only Conclusions Il and 11l follow

9. Which letter cluster will complete the given series?
VEIT, THGW, RKEZ, PNCC, NQAF,
(A) MRZI (B) LTYI
(C) MRYH (D) LTZI
10. Select the figure that can replace the question mark (?)
in the following series.
S @
?
(o)
o
(A) (B)
e %
(©) (D)
11. In the following question, select the related word pair
from the given alternatives.
Historical: Actual :: Hostile: ?
(A) Aggressive (B) Peaceful
(C) Friendly (D) Diffident
12. Select the answer figure that when placed in the blank

space of the given figure will complete the pattern.
ok

(A)D,R,0,P,P, S (B)D,R,P,0,P,S
(C)D,R,P,0,S,P (D)D,P,R,0O,P, S O
There are seven members- A, B, C, D, E, F, and G in
a family. C is the child of A. C is married to D. D is the
son-in-law of B. B is the daughter of E. E is the C
grandmother of F. F is not married. G is the sister-in- (A) (B)
law of C. How is G related to D?
(A) Daughter (B) Mother
(C) Sister-in-law (D) Sister
In the following question below are given some C
statements followed by some conclusions based on (©) (D)
those statements. Taking the given statements to be
tneeven i theyseem tohest variance from commo.nly 13. Select the number from among the given options that
known facts. Read all the conclusions and then decide can replace the question mark [?] in the following
which of the given conclusion logically follows the . ’
given statements. ¥ ~
Statements: All Cube is Gold. ?A)1 26(2)8 62,132 274, [ (B) 568
Some Gold is Original. (C) 574 (D) 525
Some Original is Diamond.
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In a certain code language, 'TRANSFER' is coded as
'PCTVTGHU', 'MARTIN' is coded as "TCOPKV'. What
is the code for 'DOABLE' in that code language?

(A) CQFGND
(C) QCFNGD

(B) CQGNDE
(D) CQFGME

Select the option figure in which the given figure is
embedded. (Rotation is NOT allowed)

rau

[i2

N2 N2
(A)L A V.4 J (B) \

$
N2 N2
(©) 7 J (D) \ A V4 J

Three of the following four pairs of numbers are like in
a certain way and one is different. Pick the odd one out.
(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its
constituent digits. E.g. 13 - operation on 13 such as
adding/subtracting/multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then
performing mathematical operations on 1 and 3 is not

allowed)
(A) 67: 80 (B) 91: 101
(C) 41: 56 (D) 19: 29

Select the correct mirrorimage of the given figure when
the mirror is placed to the right of the figure at 'AB'.

A
M4A@NGO#ESS

x22%¥I0DUGALM
) 22I%CONGALM

c CCIR0ODUDAMM
D) ccIROODU@AMM

In a certain code language, 'SLIM' is coded as '53'
and 'BAND' is coded as '21', then how is 'TEAM' coded
as in the given language?

(A) 19 (B) 37

(C) 39 (D) 45

Which of the following will best complete the
relationship given below?
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JOIN: 24:: GRAB:? :: DEAL: 16
(A) 18 (B) 25
(©)9 (D) 22

Select the correct option that indicates the
arrangement of the given places in a logical and
meaningful order.

(Note: The words must be considered as meaningful
English words and must not be related to each other
based on the number of letters/number of
consonants/vowels in the word)

1. Africa 2. South America
3. Asia 4. North America
5. Europe

(A)3,2,1,5,4 (B)3,1,4,2,5
(C)3,4,2,1,5 (D)3,1,2,5,4

The sequence of folding a piece of paper and the
manner in which the folded paper has been cut is
shown below. Choose a figure which would most
closely resemble the unfolded form of the paper.

|
v

(A) (B)

(©) (D)

P is 5km to the south of Q. R is 3km to the east of Q.
U is 5km to the north of S. U is 3km to the eastof T. T
is 3km to the north of R. What is the distance and
direction of point P with respect to the point U?

(A) 12km, Southwest (B) 10km, Northeast

(C) 12km, Northeast (D) 10km, Southwest

Select the option in which the numbers do not share
the same relationship as that shared by the given pair
of numbers.

52: 364
(A) 39: 468 (B) 26: 208
(C) 53: 424 (D) 29: 315

Two different positions of the same dice are shown.
The six faces of the dice are marked as 'A', 'B, 'C', 'D',
'E' and 'F'. Select the letter that will be on the top if the
dice is resting on 'D'?
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(A)C (B)F
(C)E (D) A

Select the option that is related to the first number in
the same way as the third number is related to the
fourth number and fifth number is related to sixth
number.

13:?2:8:512::11:1331

(A) 729 (B) 2197

(C) 4096 (D) 1728

Quantitative Aptitude

The perpendicular and base of a right-angled triangle
is 9 cm and 40 cm, respectively. Find the perimeter of
the right-angled triangle.
(A) 90 cm
(C) 56 cm

(B) 72 cm
(D) 85 cm

The sum of two numbers is 801. When the larger
number is divided by the smaller number, the quotient
is 41 and the remainder is 3. Find the difference
between the two numbers.
(A) 332
(C) 429

(B) 672
(D) 763

The pie chart given below shows the percentage
distribution of number of students who speak five
different languages in a school out of total number of
students in the school (which is 240).

Tamil
14%
English
24%
Guijarati
20%
Hindi
Bengali 30%
12%

What is the ratio of sum of number of students who
speak English and Hindi to those who speak Bengali?
(A) 8:3 (B) 9:2

(C) 5:1 (D) 10:3

Find the simplified value of the given expression.

1 16 1 24 18 5
—of?+—of—x———

2 8 9 12 8
(A) 19/40 (B) 17/20
€)1 (D)5

Find the volume (in cm®) of the right circular cylinder,
whose radius and height are 2.1 cm and 3.5 cm,
respectively. (Take 1 = 22/7)

(A) 52.27 (B) 48.51

(C) 51.30 (D) 36.51

In an arithmetic progression, first term (a) is 25, last
term (1) is 253 and common difference (d) is 12. Find
the sum of the series.
(A) 2458
(C) 2780

(B) 2985
(D) 2670
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A sum of %1,280 amounts to %1,492.992 when
invested at compound interest compounded annually
of 'R%' p.a. for 2 years. Find the value of 'R'?

(A) 12 (B) 5

(C) 10 (D)8

If tan A = 1, the value of cosec A x (1 - cos A) is?

(A) (V2-2) (B) (2-12)

(€) (1-12) (D) (V2-1)

If (a3 - b%) =414 and (a - b) = 3, what is the value of ab?
(A) 43 (B) 45

(C) 40 (D) 39

Time taken by train 'A’ running with a speed of 30 m/s
to cross a pole is 15 seconds. Find the speed of train
'B' given that length of train 'B' is 50% more than that
of train 'A' and both the trains can cross each other in
15 seconds while running in opposite directions.

(A) 60 m/s (B) 55 m/s

(C)45 m/s (D) 50 m/s

The bar graph given below shows the production (in
tonnes) of wheat in India in 6 years starting from 2012.
Study the graph carefully and answer the question
given below.

65

=

50

P~
n

| o
=l n

30

2012 2013 2014 2015 2016 2017
What was the percentage decline in the production of
wheat from 2014 to 2015?

(A) 18%
(C) 35%

(B) 25%
(D) 32%

sin f(1+tan 0)
cos (1—cot 6)’
(B) 2448/175
(D) 1667/165

If cos 6 = % then find the value of

(A) 2126/165
(C) 2052/105

Amit alone takes 5 times as much time as Bimal alone
or 4 times as much time as Charu alone to finish a
piece of work. Working together, they can finish the
work in 4 days. Charu can do the work alone in:

(A) 6 days (B) 10 days

(C) 15 days (D) 12 days

A shopkeeper offers the following two discount
schemes:

A) Buy 2 get 3 free

B) Buy 4 get 5 free
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Which scheme offers lower discount percentage?
(A) Can't be determined

(B) A

(C)B

(D) Both schemes offer same discount percentage

If x2- 2x + 1 = 0, then find the value of (x2 + x2)(x3 + x°
3).
(A)O (B) 2
(C)4 (D) 1

If 80 litres of solution having milk and water in it, have
60% milk in it, then how much milk should be added so
that quantity of milk becomes 80% in the resultant
solution?

(A) 85 litres
(C) 80 litres

(B) 95 litres
(D) 65 litres

A seller bought 15 dozen bananas at ¥510, and the
cost of transportation is 0.5 per banana. If 20% of the
bananas got rotten which he has to throw away, and
the seller wants to earn a profit of 80%, then find the
selling price of per dozen of bananas.

(A) %80 (B) %75

(C) %90 (D) %72

Two runners, 'A' and 'B' start running along a circular
track of length 700 meters at speeds of 72 km/h and
108 km/h, respectively in opposite directions. After how
much time will they meet again at the starting point?
(A) 14 seconds (B) 12 seconds

(C) 16 seconds (D) 18 seconds

In the given figure, ZABC = 60°, then find the length
of side AC.

A
a[
8 c
: 13cm i
(A) 13v2 cm (B) 15 cm
(C) V129 cm (D) 172 cm

If the price (per kg) of sugar is increased by 16%,
then by what percentage should the consumption be
decreased by a consumer if he wants to increase his
expenditure on sugar by 10% only (Correct to 2
decimal place)?
(A) 3.36%

(C) 4.23%

(B) 5.17%
(D) 6.32%

'A' alone can do a piece of work in 8 days and 'B'
alone can do the same work in 10 days. 'A' and 'B'
worked for four days after which 'B' left and 'A'
completed the remaining work alone in 'N' more days.
Find the value of 'N'.
(A) (6/5) days

(C) (7/5) days

(B) (4/5) days
(D) (8/5) days

If A ABC ~ ADEF, zA = 47°, and £E = 63°, then find
¢<C.
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(A) 70° (B) 50°
(C) 40° (D) 67°

Speed of a boat in still water is 23 km/h. The speed of
stream is 3 km/h. In how much time will the boat cover
a distance of 390 km in downstream and 260 km in
upstream?

(A) 30 hours
(C) 25 hours

(B) 32 hours
(D) 28 hours

20 men or 30 women can do a work in 25 days. Find
the time taken by 9 men and 24 women together to do
the same work.

(A) 22 days (B) 24 days
(C) 18 days (D) 20 days
What is the value of 222152

1+tan® 15
(A) 1 (B) (V3/2)

(C) (12) (D) (1/2)

General Awareness

The Aram Bagh is the oldest Mughal Garden located
in Agra, India. It was built by which Mughal Emperor?
(A) Akbar (B) Babur

(C) Humayun (D) Jahangir

Father of Modern Portfolio Theory (MPT) is

(A) Eugene Fama (B) David Hume

(C) Harry Markowitz (D) Myron Scholes

What is Net Factor Income from Abroad (NFIA) if
factor income earned from abroad is Rs 1500 and
factor income paid abroad is Rs 12007

(A) 300 (B) 27

(C)3 (D) 2700

Which among the following Prime Minister of India
represented the Nandyal constituency as a Member of
Parliament (MP) ?

(A) P.V. Narasimha Rao

(B) Charan Singh

(C) Guilzarilal Nanda

(D) Vishwanath Pratap Singh

'Dalle Khursani' is a variety of chilli pepper primarily
cultivated in which Indian state?

(A) Kerala (B) Sikkim

(C) Tamil Nadu (D) Himachal Pradesh

Which of the following is not the characteristic of high-
yielding technologies?

(A) Shorter gestation period

(B) Higher investment in comparison to traditional
technologies.

(C) Higher return in terms of yield and income

(D) Low investment in comparison to traditional
technologies.

Which of the following element has the maximum
percentage in the composition of Earth?

(A) Oxygen (B) Iron

(C) Nickel (D) Magnesium

The Beas River originates from which of the following
range?

(A) Satpura Range
(C) Vindhya Range

(B) Pir Panjal range
(D) Aravalli Range




59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

UENKIS COACHING

A newspaper called "Swaraj" was started by which
Indian revolutionary?

(A) Jayaprakash Narayan

(B) Vinoba Bhave

(C) Subhash Chandra Bose

(D) Chandra Shekhar Azad

As per the Union Budget 2023-24, how many centres
of excellence (COE) for Atrtificial Intelligence (Al) will be
set-up in top educational institutions?

(A) One (B) Three

(C) Four (D) Six

Kheda Satyagraha of 1918 was organised by
Mahatma Gandhi to support peasants who were
unable to pay the revenue because of famine and
plague epidemic. Kheda city is located in which Indian
state?

(A) Gujarat
(C) Rajasthan

(B) Karnataka
(D) Odisha

What part of the body does hepatitis affect?

(A) Brain (B) Liver

(C) Heart (D) Kidney

Netaji Subhas National Institute of Sports is located in
which city?

(A) Dehradun (B) Patiala

(C) New Delhi (D) Surat

Which of the following is observed annually as
National Statistics Day?
(A) 23 June
(C) 27 June

(B) 25" June
(D) 29t June

Consider the following statements regarding 'Kala
Azar"

(I) This disease is caused by a bacterium.

(Il) The disease is endemic in Bihar, Jharkhand, Uttar
Pradesh and West Bengal.

Which of the above is/are correct?

(A) Only | (B) Only Il

(C) Both 1 & I (D) Neither | nor I

Anurag visited the tallest plunge waterfall in India,

with a staggering height of 340 meters (1,115 feet) . He

was captivated by its natural beauty.

With this information, one can say that Anurag visited
waterfall.

(A) Jog

(C) Talakona

(B) Nohkalikai
(D) Dudhsagar

Rajeev is in the news for his role in setting up a dairy
cooperative in the backward areas of Jharkhand state.
His work in promoting cooperative societies is
described in which of the following articles of the Indian
Constitution?

(A) Article 39C
(C) Article 43B

(B) Article 92A
(D) Article 51A

Consider the following statements:

Statement I: In 1979, the Morarji Desai Government
appointed the Second Backward Classes Commission
under the chairmanship of B P Mandal.

Statement Il: The Commission submitted its report in
1980 and recommended for reservation of 27% of
government jobs for the Other Backward Classes.
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Which of the statements given above is/are correct?
(A) Only | (B) Only 1l
(C) Both I and Il (D) Neither | nor Il

Who has become the first woman officer in the Indian
Air Force to receive a gallantry award?

(A) Avani Chaturvedi (B) Deepika Misra

(C) Pratibha Poonia (D) Antara Mehta

Which Indian scientist is recognized by 'UNEP' as the
Father of Economic Ecology?

(A) Yash Pal (B) R. Mishra

(C) B.P. Pal (D) M.S. Swaminathan
The first COP meeting was held in

(A) Kyoto (B) Berlin

(C) Durban (D) Bonn

Nyoma-Chushul region, recently seen in news due to
flash floods, is located in which state/UT?

(A) Assam (B) Sikkim

(C) Ladakh (D) Uttarakhand

Pallikaranai Marshland, recently seen in news, is
located in which state?
(A) Andhra Pradesh
(C) Kerala

(B) Karnataka
(D) Tamil Nadu

Recently, the India’s first ‘Chadwick House: Navigating
Audit Heritage’ museum has been inaugurated at
which place?
(A) Jaipur
(C) Ladakh

(B) Shimla
(D) Chandigarh

What is the name of the scheme launched by the
Odisha government to provide interest-free loans up to
Rs 1 lakh to youth of the state in February 20247

(A) SWAYAM (B) PRAYAS

(C) LABHA (D) ADARSH

English Lanquage

Select the most appropriate word to fill in the blank.

Despite the setback, she faced the challenge with
and determination.

(A) frivolity (B) fortitude

(C) fallacy (D) illusion

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filed in the blank, thereby making the sentence
grammatically and contextually correct.

Rising concerns over climate change have prompted
the need for measures to reduce carbon
emissions.
(A) lame

(C) acrobatic

(B) practical
(D) jovial

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

Speech or writing that is intended to influence people
but that is not necessarily honest or sincere

(A) Rhetoric (B) Dermatology

(C) Contemporary (D) Gratuity
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In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correct spelling of the given word.

(A) exhorbitent (B) exhorbitant

(C) exorbitant (D) exorbetant

In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correctly spelled word.
(A) feriocious
(C) feracious

(B) ferocious
(D) ferocuous

In the following question, one part of the sentence may
have an error. Select the option containing the error as
your answer.

She and her brother (A) / has been selected (B) / for
the school choir. (C) / No error (D)

(A) A (B)B

(€C (D)D

In the following question, one part of the sentence may
have an error. Select the option containing the error as
your answer.

These concerns have led to (A)/ multiple countries
prohibiting (B)/ such advertisements altogether. (C)/

No error (D)
(A) A (B)B
(€C (D)D

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

A person who is skilled in interpreting writing or
inscriptions
(A) translator
(C) interpreter

(B) decipherer
(D) linguist

Sentences of a paragraph are given below in jumbled
order. Arrange the sentences in the correct order to
form a meaningful and coherent paragraph.

A. Coffee plants are cultivated in over 70 countries,
primarily in the equatorial regions of the Americas,
Southeast Asia, and Africa.

B. It is one of the most popular beverages in the world,
with billions of cups consumed daily.

C. The coffee plant is a member of the Rubiaceae
family and produces berries that are harvested,
processed, and dried to yield coffee beans.

D. These beans are then roasted and ground to make
the beverage known as coffee.

(A) BADC (B) ACBD

(C) BCAD (D) ACDB

In the question below, an idiom is given, followed by
four options. Select the option that gives the correct
meaning of the idiom.

Through the grapevine

(A) via gossip

(B) in the best way

(C) as a result of something

(D) a witness to something

Directions [86-90]: In the following passage, some of the words

have been left out and replaced by a blank. First, read
the passage and try to understand what it is about.
Then fill in the blanks as per the questions given.
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The performance and utility of Al systems ___ (I)_as
the task narrows, making them valuable assistants to
humans. Speech recognition, translation, and even
identifying common objects such as photographs are
just a ___ (ll)___ tasks that Al systems tackle today.
Artificial General Intelligence (AGIl) refers to
intelligence that is not limited or narrow. Think of it as
human "common sense" but absent in Al systems.
Common sense will ___(lll)_ a human save his life
in a life-threatening situation, while a robot may remain
unmoved. There are no credible ___(IV)___ towards
building AGI yet. Many experts believe AGI will never
be __ (V)_ by a machine; others believe it could be
in the far future.

Find the correct word in case (l).
(A) improve (B) impede
(C) forecast (D) eliminate

Find the correct word in case (ll).
(A) much (B) little
(C) few (D) some

Find the correct word in case (ll1).
(A) broadcast (B) help
(C) admire (D) oppose

Find the correct word in case (IV).
(A) challenging (B) punctually

(C) supportive (D) efforts
Find the correct word in case (V).

(A) achieved (B) critical
(C) identify (D) travelling

In the following question, a sentence has been given in
Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

He said to his father, "I do not want to have an
argument with you."

(A) He told his father that he does not want to have an
argument with him.

(B) He told his father that he did not want to have an
argument with him.

(C) He told his father that he did not wanted to have an
argument with him.

(D) He told his father that | did not want to have an
argument with you.

Select the correct passive form of the given sentence.
Anita has informed the members of the association.
(A) The members of the association were informed by
Anita.

(B) The members of the association had been
informed by Anita.

(C) The members of the association would have been
informed by Anita.

(D) The members of the association have been
informed by Anita.

In the following question, a sentence has been given in
Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/ Active Voice.

The speech has been delivered to the audience by the
officer.
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(A) The officer delivered the speech to the audience.
(B) The officer has delivered the speech to the
audience.

(C) The officer had delivered the speech to the
audience.

(D) The officer has been delivered the speech to the
audience.

Select the most appropriate antonym of the given
word.

GORGEOUS
(A) splendid (B) colossal
(C) drab (D) puny

In the following question, out of the four alternatives,
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(P) It is the ability to inspire and influence others to
achieve a common goal.

(Q) Effective leadership is essential for the success
and growth of any group or company.

(R) A good leader possesses qualities such as vision,
integrity, empathy, and communication skills to
achieve this objective.

(S) Without this kind of leadership, teams may lack
direction and motivation.

(S6) Ultimately, the effectiveness of leadership
determines the performance and sustainability of an
organisation.
(A)S,P,R,Q
(C)R,Q,S,P

(B)P,R,Q, S
(D)Q,R,S,P

choose the one which best expresses the meaning of 98. In the following question, a sentence is given with a
the given word. phrase or idiom in brackets. Select the option given
ADHERENT below that can replace the bracketed phrase.
(A) disciple (B) hater Harry will (take against) as managing director when
(C) misfit (D) deviant Norman retires.
(A) take over (B) take apart

In the following question, a sentence is given with a (C) take out (D) No improvement
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase. 99. Select the most appropriate synonym of the given
The dog changed shape and (turned into) a menacing word.
wolf. CORDIAL
(A) turned down (B) turned out (A) affable (B) fervent
(C) turned up (D) No improvement (C) futile (D) reckless
Sentences of a paragraph are given below. While the 100. Select the most appropriate antonym of the given
first and the last sentences (S1 and S6) are in the word.
correct order, the sentences in between are jumbled up PUERILE
and named P, Q, R, S. Arrange the sentences in the (A) lively (B) sluggish
correct order to form a meaningful and coherent (C) gigantic (D) mature
paragraph.
(S1) Leadership is one of the most crucial aspects of
any organisation.

Space for rough work
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